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Name one central public sector
enterprise.

ccfu <mq+ rc< e&qn ebm {N fr{r r

Mention one objective of WTO.

wToT qtl tcq?.r, frqt I

What is balance of trade?

<tBers cFr-(FFr sFt-{lv @-q ft :Sr r

(g) Write one non-institutional source of
agricultural credit.

fR qt< qh qlt-qr{hfr{ Sqq Avt r

(h) In which year was Make in India,
progr€rmme launched?

6gFr u;te 'motrq&n, of4q qre ?fiqr

O Write one important stratery for
industrial development in India.

sFrgr AzqjrTh-s E-dr{T Ttr{ ,4br €qq1.F c+fq
frqr r

0) What is meant by land reform?

Pfr l.-orv1fu-q ft 1qmr

(k) Define globalization.

6fl-ffiaqc6rig1fu I
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A) Mention one objective of agricultural
price policy.

TR Tqr ftBq eh ?qftAi frvr r

(m) What is foreign investment?

?<nft$ fifuqrq fr r

(A Mention one feature of Indian
agriculture.

snqrffietrt<ftbfr+r 
r

(o) Mention one defect of agricultural
marketing in India.
sFtsro 1R <vr<<,qbr GE trmq n-{ I

2. Answer any fiue of the following questions :

sT{ s:tq<< ft con* {EBR U-qq ftu :
2x5=1O

(a) Give two arguments in favour of small_
scale industries in India.
st3Es au berner< rflzs $r tfu ftu ,

(b) Mention two measures for improvement
of agricultural .marketing in India.
.l,-t?lso $ <vt<< o-cr-fi Ttr{ Ebr <I{qr bcs{
silt

(c) What is Special Economic Zone (SEZI?
ftfiq qcfur&-$ qqr{ ft r
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Mention. two achievements of land
reforms in India.

vtitgg pfr wrcn <T{qlq{q{ rh qrc-qr tzH".l

F{I I

Give two differences between
small-scale and cottage industries.

Te qr+ $< Bzqm< nrqs Frnef+l fr{r r

Write two measures for the revival of
public sector enterprises in India.

EFtEs <Iqq<l qw berfirE{q 1161k-+<r< <r<

Fr <r+{ frtt ,

What is the main reason for regional
disparity in agricultural production?

1fr S<"nm{ qwft-+ EqrtsFr yn nntcBtft r

Point out two solutions to the growing
problem of deficits in balance of
pa5rments in India.

sFtBr Tlfter$ cq-dmfi EEsr crFEre 6qf<l

<frs $m{ qrmrt rlrxrfi Ft O"nr brs{ T-{t r
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3. Answer arty four of the following questions :

5x4=2O
\r-ET flTqq3 fr c+rc-r URER t-q< fi*r :

(a) Explain briefly the trends in agricultural
production in India since independence.

trfuq ftW qrcE TRq1v aq gqeffm{ tG
$rK firr* u$o <f*r oo r

(b) Write a brief note on disinvestment in
public sector undertakings.

<Iwqfl {e< eftqfaq{< fiffiflq-fi s11e
u$+ eh 6m frqr r

(c) Explain the factors responsible for
mounting crisis in balance of payments
in India.

sFrq{ <]fteT$ cq;t-or-{T Gry< m<v {E cqf<r

<frs "rfutqr qm< <'ITfi{q<fit +{t r

(d) Mention the important problems of
industrial development in India.

sFqr errft-s 0-{s-{< €w16f qrffq1qU6gq

Ta[ I

(e) Explain the various t5rpes of agricultural
credit in India.

sFtsr TR qrfi frBa aeKq{E <q'* +{r I
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Discuss the role of World Trade

Organization.

fr{ <tfi&I+ q\fltffi Yfr-st ri-lz+ qlrqlFrl

q{l

Explain the weaknesses of tl e small-

scale industries in India.

sr<q{ Tq o-eqnflr{{{ lfavElqrfal p-{t 
1

Point out the objectives of land reforms

in India.

srrcir pfr xrcn <rirqn g6q'ffi{q t.rr< +-qt t

171

What is foreign d'irect investment?
Explatn tlle role of foreign direct
investment in India:

asrr tffift$ ftfuflq ftr sKw ,tsIT

hfifts Rfumr< 1ft+t <f+t +<t t

Critically evalug.te the performance of
public sector uhdertaking in India.

Er€{ 1lqq{I 1q{ srhntrq< Tlffi
q:rll,attE{l{Trr{{ry'lE{s-{f l

Explain the balance of Pa5rments
position in India since independence.

ttqrcK fqqv w+o< {ffer$ camtm t?s{
qTqt I.F{t T-{I I

Write an appraisal of New Smdl Sector

Industrial PolicY, 1991.

ryTq qw Qtrtft$ffi, :tt:< 6l**
?Fitl I

Explain the role of small-scale

industries in Indian economy.

er{qr qfifrts qu Bmmr< Pfto <f+ e* t

Explain the effects of agricultural price
policy in India.

EFrw $ 1-ql ftft-< eu{c<lr <f{ +<t I
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4. Answer any fourof the followingquestions:
10x4=40

sryq sfqTq{ fr cort-+t URA{ te-{ fiTr :

(a) Discuss the trends in industrial
production in India during the planning
period.

qR--+-s{K T1-46affiv sFto_{ bcq,,lflt's Sqoftr-{-{

6tfuT-{IE fiq6n qraua a-{ t

(b) Explain the present state of agricultural
marketing in India.

sFls?t 1R u-<l rsrfi {6$q q{qFI firzT <'f{l
q{tl
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Discuss the emergence of WTO and
India's gain as a founder member.

fr,{ qfr&rs r\xtfi q[ qrp eftqn+ rsr
Rurmqqqqftftqls ft6q, q16qq1q-q I

Explain the causes of baclnrardness of
Indian agriculture and also give some
remedial measures to raise agricultural
productivity.

EKqr Tfu frs $qqTnfrqsn snqr<K Tf{r
+rt qr+ E6rF Tft-{ $qop1ftryq rftq Tlz<

ftqffi sB-ffi{mvaetftn r
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